Start

Decimalise time:
decimal time = (hours * 3600) + (minutes * 60)
decimal _sunrise = (sunrise_hours * 3600 ) + (sunrise_minutes * 60)
decimal sunset = (sunset_hours * 3600) + (sunset minutes * 60)

decimal time >
(decimal sunrise
- 60)

time_of the_day flag =
1

decimal time >
((decimal sunris
e + 3600)-60)

time of the day flag =
2

decimal_time >
(decimal sunset-
60)

time_of the_day flag =
3

decimal time >
((decimal sunset
+ 3600)-60)

time_of the_day flag =
4

Select case
1 time of the day 4
_flag
2 3
led out(2,1,"Sunrise ") led out(2,1,"Daytime ") led out(2,1," Sunset ") led out(2,1,” Nightime ")
lata.1 = 1 lata.0 = 1 lata.0 = 0 lata.0 = 0
lata.0 = 0 lata.1 =1 lata.1 =1 lata.1 = 0

]

END



